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PHILOSOPHY
[HONOURS]

Skill Enhancement Course (SEC)
Course Code : PHIL-H-SEC-T-2
[Logical Rules and Fallacies (Western)]

Full Marks : 40 ‘Time : 2 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as Jar as practicable.

. Answer any five questions: , S 2x5=10
@RI A5 eeaw e we ¢
a) What is indirect proof? Give an example.
AP @il N2 A we |
A/ Db) Give a symbolic definition of A~B.
A~B-F RIF Wzl wiS |
c) What is 'univerSe of discourse?
o7y Ry I e 2
\}}} Determine ‘Wh\ether (A->—-A)—=>A ié a
' tautology or not by applying truth-tree method.
TSP NS AN TR (A > —A) > A TG

1 o Al =g —
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e) Translate into the set theoretic notation:
Planets are ‘nine | |
Never will the dead speak.
FIGT fFioits e w9 3
- aRef Ry @l
TS e TR A A A

Represent AN~B=A and BN~A =A by
Venn Diagram. Express the relation between A
~and B.

O3 (oF @UBAER MGE AN~B=p G2
BN~A=A T3 9| A 933 B @ W& Y -
o AP 3 |

Wthh of the followmg statements are true for
~all sets A, B and C?

If ACB and BEC then A €.C

If AeBand BCCthenACC .

xRk el @W%WA B, CWC’@?
W‘?

g% ACB ¥R} BEC o AEC
zrlﬁ AEB QR BCC Wﬂ ACC

\13)/ Prove the validity of the following by applying
~truth tree method : | p

~A->B..B->A
W@WWWN@WW°

. -A->B.B->A
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2. Answer any two questions: 5%2=10
- g 20ag el miS ¢ |
a) i) Use truth tree method to verify that the
following pair is logically equivalent:

- AeB |
(A>B)&(-A>-B) . >
- . A<B

 (A~B)&(-A~-B)

i) Give a counter éxample to show that the
operation of difference is not in general
distributive with respect to union. 2

4= ReTre ey AR @WS @
Fivete R a@ene s fems
 (union) CZFRIACE TR HLEIETC RS
. T (not distributive) |
b) i) Give definitions and examples of he&g-.
€ @R C-7 TS Gk Tz WS |
~ii) Is the domain of the relation of being a

' grandféther identical set with the domain
of being a father? — show cause. 3

DT FHCE SN D(R) N I &S
SHRINT D(R) A SSTOR 6 2— FFA
@aAs |
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d)

LY
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"Us'e truth‘,t're'é method to determine

whether the followivng is a tautology or

- not : 1R 2

1)

A->(B-C)e [A>B)=>(A~>C)]

TR A tﬁmmm iR T
"’s—°ﬂ—}ﬁw—rﬁmm° | ‘

A~ (B~C)=[A~>B) —>.-(A_—> C)]

Prove that empty set is a subset of every

_set. i ocie : | 3

BT 7 G, < R A P G Bl |

Are the following  assumptions mutually

' consmtent‘?

ACC |
ANC=A 3
CANB#A

e <SR B st A

ACC
ANC=A .
ANB#A
Use truth tree method to decidev whether

the followmg are: con31stent _ ‘9

Both Crumm and Moriarty are guilty if -

either 1s
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If neither-is guilty, then Holmes has not
‘bungled, Unless Holmes has bungled
exactly one of them 1s guilty.

TOPNRN #lafs e S s @ R
e Sy ﬂ:‘ffﬁaw% =3 3

| Wmczf@mw mﬁmlﬂﬁﬂm@@i

-~

(IR N = Srge mﬂfiﬁ\wﬁwﬁl
W A @ e A w5, © OIRCT A
V& 0% @Few o |
3. Answer any two questions: - 10x2=20
@I vfo desw Teq wie ¢ |
a) 1) Let A={A Plato} R | 3

© Can you give an example -of a relation
~which is. 1rxeflex1ve symmetrlc and
- - transitive in A?.

A T, A=A{A, Plato}

A GG W G0 WW |
B wie ‘zn ’amaf mﬁﬁ G
TREF |

- ii) Test the validity of the followmg argument
- by Venn Diagram : . 4

 ~AC~(BNC)
 CC~A
BC (AU~ C)
-..~(Buc)g~e |
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o @B T GRS SEE
st AarE 9 5

~AC~(BNC)
CC~A

BC (AU~C)
-~(BUC)C~A

iii) Let vV={1.2,3,4.5,6;
A ={1,2}
B={3,4,5}
C=1{2.5,6}

’JJ

Find the following:
(AuC)~(BNV)JU-A
- (Bn~-Co)uann)UB]
€@l T,
v=1{1,2,3,4,5,6}
A={1,2}

B={3,4,5}
- C={2,5,6}

aeiRe crasfre s Rdzd 32 ¢

(auc)~BNV)Ju~A
(BN~C)u [(ANA)UB]
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Qs

i)

Trnslate the following sentences into set
theoretic notation : . 3
Apples, oranges and mangoes are sweet

Freshmen are ignorant but enthusiastic

Penguins have wings.

fFrefife amefite HFP T 99 3
A, SIEAEE R O B
AT A SHioe W @w%
cﬂ'v‘fi@?l Tl Sz |

Give the symbolical definitions and

examples of a symmetrical, .an
‘asymmetrical and an antisymmetrical .

~ relation. Is relation of inclusion

ymmetncal" | 4

AR, RE A @ TG ?ﬁﬁ@ SRS

. FgeE] @ TiRdd WS |

W@é@?ﬂ‘aﬁ?{m@w

1i1) Which of the following statements are true

~ 467/Phil.

for all sets A, B & C? 3

If A€B & B C C then ACC
If ACB. & BECthen AEC
If A=Band BCCthen ACC
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A, B &% C 5 (69 (g skl

STl el o) |
I A¢B W B.C C OgA ACC
I ACB 98 BEC O A ¢ C
AW A=B @3 BCC oI ACC

Test the validity of the following argument
by usmg truth-tree method . 4

‘Both John and Smith are guﬂty But elther j

John and Robert are gullty or Smith and

- Robert are guilty. Both:Smith and Robert
~cannot. be gullty Hence Robert is not:

RS g S R s

~ 467/Phil

“@mﬁmwo_ :
maa\ﬁmmmﬁlﬁ@@@ﬂm\'

) oS = MY @) 59 @R R
. aa\wmmwmm,m.

.wﬁmﬁmﬂ’l

i) All horses are winged ' 5 g

- There is no winged horses

What can you infer from these two
assumpt10ns‘7

.\‘\
]

~—Show it by a Venn Di‘ag'ram and eXpress.

sy



T (AT T

CMEE (A 73 |

GZ 96 AT (A F SEE w9 9 ol oo
@ifor@a M @2Ae 998 TS 779 |

ii1) Find the following : = LRSS

d) i)

At ~A
inpn{a{inllt
{ah{n}atuia}

fratiestm am fdy w9 ¢

{AAAH~A

(ntn{r{{n1}}

{ah{nh A u{a
~What is wrong with the following
argumenfs?—Explain by forming sets. 4
Socrates is a man. | |
Men are ‘numerous.

Therefore, Socrates is numerous.

Wvﬁmﬁ@ﬁmﬁmw -

2 ?IT?UTW

| 67/py;
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i) When is o diagram inconsistent in set

theory? Explain with cxample. - 3
o org @dd qafo fba wrierd 5y
SR I Al |

iii) Distinguish, with example between 'open

path' and 'closed path' in truth tree method.
| 3

TR AROCS eI’ @ I T
- RER Al Wl S|

Rt



